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B S| k& a0 |WBAGASEEEE. 1 4 | D | D a9 | H_g,
SO 2 1.5 [+0.15/£0.30/+0.45] 2 48 | 4
SO 3 25 |+0.15+030/+045 3 58 5
SO 4 35 |+0.15/+0.30(+0.45 4 66 6
SO 5 45 |+0.15/+0.30/+ 045 5 =2 3 [N
SO 6 55 |+0.15+0.30%+ 045 6 83| 8
so 7 6.5 |+£0.15/+030(+ 045 7 93| 9
SO 8 75 |+£0.15/+ 030+ 045 8 103 | 10
SO 9 85 |+0.15/+030/+0.45 9 b
SO 10 9.5 |+0.15+0.30/+0.45 10 123 | 12
s0 112 | 'STO01 | 407 |+015/+030/+ 045 112 | 135 132 2 L
SO 12 115 |£0.15 = 0.30|£ 0.45 12 143 | 14
SO 125 120 |+ 015 +0.30|+ 045 125 | 148 145
SO 14 135 |+ 0.15 £ 0.30|+ 0.45 14 16.3 | 16

[ SO 15 | 145 |+ 0.15/+0.30|*+ 0.45| 15 173 | 47
SO 16 155 |+ 0.15 = 0.30|* 0.45 16 183 18
SO 18 175 |+£0.15/+£0.30/+ 045 18 | 203 | 20
SO 20 195 |+ 0.15/+£0.30|+ 0.45 20 | 223 | 22
S0 72 21.5 |+0.15/+ 0.30|+ 0.45| 22 243 | 24
SO 22.4 21.9 |£0.15£0.30/£ 0.45] 224 | 259 254
SO 24 235 |+£0.15/+0.30|*+ 045 24 | 275 | 27
SO 25 245 [+ 015 £ 0.30|= 0.45 25 28.5 | 28
SO 26 255 |+0.15/+ 030+ 045 26 | 295/ 29
SO 28 27.5 |£0.15/£0.30/+0.45 28 | 31.5| 31
SO 29 285 |+0.15/+030/+045 29 | 325/ 32
SO 30 295 |+0.15+0.30/+0.45 30 | 335/ 33
SO 315 31.0 |+0.15/+ 030+ 045 315| 35 | 345
SO 32 315 |+0.15/+0.30/+ 045/ 32 | 355 35
SO 34 33.5 |+ 0.15/+0.30|+ 0.45| 34 375 | 37
SO 35 345 |+0.15/+0.30/+ 045 35 | 385/ 38
SO 355 350 |+0.15/+ 030+ 045 355| 39 | 385
SO 36 355 |+0.15/+0.30/+ 045/ 36 | 39.5| 39
SO 38 375 |+0.15/+ 030+ 0.45 38 | 415 41
SO 39 385 |+0.15/+0.30|+ 045/ 39 | 425/ 42
SO 40 20+ 0.1 395 |+0.15/+0.30/+£ 045 40 | 435/ 43 27 15
SO 42 415 |+ 025/ 050 £ 0.75| 42 45.5 45
SO 44 435 |+0.25/+ 050+ 0.75| 44 | 475/| 47
SO 45 445 |+ 025+ 050+ 0.75 45 | 485 | 48
SO 46 455 |+0.25/+050/+0.75| 46 | 495 | 49
SO 48 475 |+ 025+ 050+ 0.75| 48 | 51 51
SO 50 495 |+0.25/+050/+075 50 | 53 | 53
SO 53 525 |+ 025 +050/+0.75 53 | 56 | 56
SO 55 54.5 |+ 0.25|+ 0.50|+ 0.75| 55 58 58
SO 56 55.5 |+ 0.25 + 050|+0.75| 56 | 59 | 59
SO 60 595 |+0.25 +050/+0.75 60 | 63 | 63
SO 63 62.5 |+0.25 +£050/+0.75 63 | 66 & 66
SO 65 64.5 |+0.25/+050|+0.75 65 | 68 | 68
SO 67 66.5 |+ 0.25 + 050|+0.75 67 | 70 | 70
S0 70 69.5 |+0.25/+050|+075 70 | 73 | 73
50 71 70.5 |+ 0.40/ + 0.80|+ 1.20/ 71 74 | 74




